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Solving linear systems for real-world situations using substitution

Using Systems
The substitution Method:

+ Solve for a variable in one of the equations.
+ Substitute the expression from step 1 into the other equation.
+ Solve the resulting one-variable equation.
Substitute the value from step 3 into the equation from step 1 and solve.

* Check yoor worlk .

Example: Suppose you buy 2 CD’s and 8 DVD's for $155. The next week you buy 1 CD and 5 DVD'’s for
$94.50. How much does each DVD and each CD cost?

Letc= Let d =

WATCH THE VIDEO, FILL IN THE
NOTES ON THIS PAGE.

check. C=9.5 gnd A=\7
N 2C + 84 =155
2@+ }UD=155
1D+ 136155
u 19521585 v
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1. Suppose your community center sels 2 fotal of 292 tickets for a basketball game. A adult icket coss

Write and solve a system to

find the number of each type of tickets sold. 2‘)3 S'h)den-\- G.hd 8q GduH"

Leta:GdU\""thet Lets=s+uden'+ +leQ+ trdkets .
'Qn'nd G-

A+S = —> a4S=29

S-242 Z Q=292- 203

-S| -
3o+ 18 = q\j@
Check N

87%‘17 3,233*‘§7§7° 2. <7 3(89)+20%= 470
e e HT0 =470V

2. Pam is playing with red and black marbles. The number of red marbles she ha@hree more than
twice the number of black marbles she has. She has 42 marbles in all. How many red marbles does
O s

Pam have?
Letr= Yed maroles - lolack marbkles
+ o =42 Sind 1 : Check

— 2b+3 r+ho=y2
z2(13)+3 294\ HZ
2043442 Y =z204+3 42 =42V
Sb+3=1v2 - “am has 29
v "3 -3 Yed morbles.

o =32
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3. Michae@5 years younger than his father. The sum of their ages is 53. What is Michael's age?

Letm=hichaels agetei- father's aqe

mMmaf =53
254 0=

Hnd m:
m=£-25
M= 29-25

losing team. How many points did the winning team score?

Letw =02 1NYY Letl= \Ose_f S
w+ L =72 ‘c"“‘j‘q_w: The winners
_ WX =72 Scored Uz,
"*’ w+30=72 | ¥he losers
1242+ 0= ~30 30 Score '
e &
12422=72
12 g |2 check In
2= 6D w2+ L
E 47212130
(£=35 UL=ULv
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